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Arabic Conjunction "Lawla": Linguistic Explanatory Study 

Al Abbas Hussien Ali Al Hazemi* 
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Abstract: This research is concerned with the study of the usage of the Arabic conjunction "lawla" in the Qur'an. It attempts to 

distinguish between two meanings and to identify the linguistic states of "lawla" in relation to its explanatory meanings. The research is 
explanatory and linguistic. It follows an analytical deductive approach to the study of "lawla" usage in the Qur'an. The research cites seventy-

five places of "lawla" in the Qur'an, thirty-four of  which are used to express imtinaa' (prevention of one thing due to the presence of another) 

and  forty-one to express tahdheedh (primarily motivation). The latter accommodates meanings such as offers, requests, wishing and 
interrogation. Each of the two ''lawla" usages has a specific structure of its own: one (imtinaa') is followed by an explicit or implicit  noun, 

while the other (tahdheedh) is followed by a verb in the present or past tense; imtin'ah lawla's principal clause sometimes starts with the 

Arabic letter "laam", while that of tahdheedh "lawla" starts with the letter "faa'". The imtinaa' predicate is elliptical, and so is 
the tahdheedh predicate. The elliptical character of the predicate in the two cases is explained by linguists and interpreters. The meaning of 

the imtinaa' "lawla" depends on the meaning of its conditional clause, which starts with "lawla". The tahdheedh "lawla" needs a principal 

clause, which can be explicit or implicit. Conjunctions that can perform the same function as "lawla" are: "halla", "alla", "lawma" and "ala". 

Keywords: lawla – imtinaa'iyyah/imtinaa' – tahdheediyyah/tahdheedh – linguistic explanation – negation – lawla principal clause. 
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9  Ÿω öθs9 uρ ×π yϑÎ= x. ôM s) t7y™ ÏΒ y7 Îi/¢‘ zÅÓà) s9 öΝæηuΖ÷�t/ 4 〈  110 �(% 

10  ô‰s) s9 uρ ôM £ϑyδ Ïµ Î/ ( §Νyδ uρ $ pκ Í5 Iω öθs9 βr& # u §‘ z≈ yδö� ç/ Ïµ În/u‘ 4 〈  24 x�(� 

11  š^$s% öΝèδθç/r& ’ÎoΤÎ) ß‰Å_ V{ yxƒÍ‘ y# ß™θãƒ ( Iω öθs9 βr& Èβρß‰ÏiΖx� è? 〈  94 x�(� 

12  Iω öθs9 uρ βr& y7≈oΨ÷G¬;rO ô‰s) s9 £N‰Ï. ß Ÿ2ö� s? óΟ ÎγøŠ s9 Î) $\↔ø‹ x© ¸ξŠÎ= s% 〈  74 A
¾	
 

13  Ÿω öθs9 uρ ×π yϑÎ= x. ôM s) t7y™ ÏΒ y7 Îi/¢‘ tβ% s3s9 $ YΒ# t“ Ï9 ×≅y_ r& uρ ‘wΚ |¡•Β 〈  129 l¥ 

14  Ÿω öθs9 uρ ßìøù yŠ «!$# }̈ $̈Ζ9$# Νåκ |Õ ÷èt/ <Ù÷èt7 Î/ ôM tΒÏd‰çλ °; ßìÏΒ≡uθ|¹ 〈  40 ]s
 

15  Ÿω öθs9 uρ ã≅ôÒsù «!$# ö/ä3ø‹ n=tæ …çµ çF uΗ ÷qu‘uρ ¨βr& uρ ©!$# ë>#§θs? îΛÅ6 ym 〈  10 
(0�
 

16  Ÿω öθs9 uρ ã≅ôÒsù «!$# ö/ä3ø‹ n=tæ …çµ çGuΗ ÷q u‘uρ ’ Îû $ u‹÷Ρ‘‰9 $# Íοt�Åz Fψ$# uρ ö/ä3¡¡ yϑs9 ’Îû !$ tΒ óΟçF ôÒsù r& ÏµŠ Ïù ë>#x‹tã îΛÏà tã 〈  14 
(0�
 

17  Ÿω öθs9 uρ ã≅ôÒsù «!$# öΝà6 ø‹ n=tæ …çµ çGuΗ ÷q u‘uρ ¨βr& uρ ©!$# Ô∃ρ â u‘ ÒΟ‹Ïm§‘ 〈  20 
(0�
 

18  Ÿω öθs9 uρ ã≅ôÒsù «!$# ö/ä3ø‹ n=tæ …çµ çGuΗ ÷q u‘uρ $ tΒ 4’s1y— Νä3ΖÏΒ ô ÏiΒ >‰tn r& # Y‰t/r& 〈  21 
(0�
 

19  βÎ) yŠ$ Ÿ2 $ oΨ==ÅÒã‹ s9 ôtã $ uΖÏF yγ Ï9#u Iω öθs9 χr& $ tΡ÷�y9|¹ $ yγ øŠn= tæ 4 〈  42 :�1�H�
 

20  ö≅è% $tΒ (# àσt7 ÷ètƒ ö/ä3Î/ ’ În1 u‘ Ÿωöθs9 öΝà2äτ !$ tãßŠ ( ô‰s) sù óΟçF ö/¤‹x. 〈  77 :�1�H�
 

21  βÎ) ôNyŠ$ Ÿ2 ”Ï‰ö7 çF s9 Ïµ Î/ Iω öθs9 βr& $ oΨôÜt/§‘ 4’n?tã $yγ Î6ù= s% 〈  10 Å�D�
 

22  Iω öθs9 uρ βr& Νßγ t6Š ÅÁè? 8π t7ŠÅÁ•Β $yϑÎ/ ôMtΒ£‰s% öΝÍγƒ Ï‰÷ƒr& 〈  47 Å�D�
 

23  Iω öθs9 βr& £ ¨Β ª!$# $ oΨø‹ n=tã y#|¡ y‚ s9 $ uΖÎ/ ( 〈  82 Å�D�
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24  Iω öθs9 uρ ×≅y_ r& ‘wΚ |¡ •Β ÞΟ èδ u !$ pg°: Ü>#x‹yè ø9 $# 〈  53 �(3B0��
 

25  ãΑθà) tƒ š Ï%©! $# (#θà� Ïè ôÒçGó™$# tÏ%©#Ï9 (#ρç�y9õ3tF ó™$# Iωöθs9 óΟçFΡr& $̈Ψä3s9 šÏΖÏΒ÷σãΒ 〈  31 {3� 

26  Ÿω öθs9 uρ èπ yϑ÷è ÏΡ ’ În1u‘ àMΖä3s9 z ÏΒ tÎ�|Øósßϑø9 $# 〈  57 ��b���
 

27  Iω öθn= sù … çµ ‾Ρr& tβ% x. zÏΒ tÅs Îm7|¡ ßϑø9 $# ∩⊇⊆⊂∪ y] Î7 n=s9 ’ Îû ÿÏµ ÏΖôÜt/ 〈  143 ,144 ��b���
 

28  Ÿω öθs9 uρ ×π yϑÎ= Ÿ2 ôM s) t7 y™  ÏΒ š� Îi/¢‘ zÅÓà) s9 öΝßγ oΨ÷�t/ 4 〈  45 g��b 

29  Ÿω öθs9 uρ ×π yϑÎ= x. ôM s) t7y™ ÏΒ y7 Îi/¢‘ #’ n<Î) 9≅y_ r& ‘wΚ |¡ •Β zÅÓà) ©9 öΝæηuΖ÷�t/ 4 〈  14 e
(��
 

30  Ÿω öθs9 uρ èπ yϑÎ= Ÿ2 È≅óÁx� ø9 $# zÅÓà) s9 öΝæηuΖ÷�t/ 3 〈  21 e
(��
 

31  Iω öθs9 uρ βr& tβθä3tƒ â¨$ ¨Ζ9$# Zπ ¨Βé& Zοy‰Ïm≡uρ $ oΨù=yèyf ©9  yϑÏ9 ã� à� õ3tƒ Ç≈uΗ ÷q §�9$$ Î/ 〈  33 u�fM�
 

32  Ÿω öθs9 uρ ×Α% ỳ Í‘ tβθãΖÏΒ÷σ•Β Ö !$ |¡ ÎΣuρ ×M≈uΖÏΒ÷σ•Β óΟ ©9 öΝèδθßϑn= ÷ès? βr& öΝèδθä↔sÜs? 〈  25 ¡7H�
 

33  Iω öθs9 uρ βr& |=tGx. ª!$# ÞΟ Îγ øŠn= tæ u Iξy∨ ø9 $# öΝåκ u5 ¤‹yès9 ’ Îû $u‹ ÷Ρ‘‰9 $# ( 〈  3 /s
 

34  Iω öθ©9 βr& … çµ x.u‘≡y‰s? ×π yϑ÷è ÏΡ ÏiΒ Ïµ În/§‘ x‹Î6ãΖs9 Ï !# t� yè ø9$$ Î/ 〈  49 6�D�
 

� 2�	k� �4"� :34 ��	�W 

* * * 
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1  tΑ$ s%uρ tÏ%©! $# Ÿω tβθßϑn= ôètƒ Ÿω öθs9 $ uΖßϑÏk= s3ãƒ ª!$# ÷ρr& !$ oΨ�Ï?ù' s? ×π tƒ# u 3 〈  118  �D3�
 

2  Iω öθs9 !$oΨs?ö� ¨z r& #’ n<Î) 9≅y_ r& 5=ƒÌ� s% 3 〈  77 A�U0�
 

3  Ÿω öθs9 ãΝßγ8 pκ ÷]tƒ šχθ –Š ÏΨ≈−/§�9 $# â‘$ t7ôm F{$# uρ  tã ÞΟÏλ Î; öθs% zΟøO M}$# 〈  63  �[��
 

4  (#θä9$ s%uρ Iω öθs9 tΑ Ì“Ρé& Ïµ ø‹n= tã Ô7 n=tΒ ( 〈  8 ���VK
 

5  (#θä9$ s%uρ Ÿω öθs9 tΑ Ìh“ çΡ Ïµ ø‹ n=tã ×π tƒ# u  ÏiΒ Ïµ În/§‘ 4 〈  37 ���VK
 

6  Iω öθn= sù øŒÎ) Νèδ u !% ỳ $ uΖß™ù' t/ (#θãã§�|Øs? 〈  43 ���VK
 

7  (#θä9$ s% Ÿω öθs9 $ yγ tF ø‹ u;tGô_ $# 4 〈  203 u
�@K
 

8  Ÿω öθn= sù t� x� tΡ  ÏΒ Èe≅ä. 7πs% ö� Ïù öΝåκ ÷] ÏiΒ ×π x� Í←!$ sÛ 〈  122 �*(7�
 

9  šχθ ä9θ à) tƒuρ Iω öθs9 tΑ Ì“Ρé& Ïµ ø‹ n= tã ×π tƒ# u  ÏiΒ Ïµ În/§‘ ( 〈  20 wV(� 

10  Ÿω öθn= sù ôM tΡ% x. îπ tƒö� s% ôM uΖtΒ# u !$yγ yèx� uΖsù !$pκ ß]≈ yϑƒÎ) 〈  98 wV(� 

11  βr& (#θä9θ à) tƒ Iω öθs9 tΑ Ì“Ρé& Ïµ ø‹ n= tã î”∴x. ÷ρr& u !$ y_ … çµyètΒ î7 n= tΒ 4 〈  12 �(% 

12  Ÿω öθn= sù tβ% x. zÏΒ Èβρã� à) ø9 $# ÏΒ ôΜ ä3Î=ö6s% (#θä9 'ρé& 7π ¨ŠÉ) t/ šχöθpκ ÷] tƒ 〈  116 �(% 

13  ãΑθà) tƒuρ tÏ%©! $# (#ρã� x� x. Iω öθs9 tΑ Ì“Ρé& Ïµ ø‹n= tã ×π tƒ# u  ÏiΒ ÿÏµ În/§‘ 3 〈  7 �@��
 

14  ãΑθà) tƒuρ tÏ%©! $# (#ρã� x� x. Iω öθs9 tΑ Ì“Ρé& Ïµ ø‹n= tã ×π tƒ# u  ÏiΒ Ïµ În/§‘ 3 〈  27 �@��
 

15  Ï Iω àσ‾≈ yδ $oΨãΒöθs% (#ρä‹sƒªB $# ÏΒ ÿÏµ ÏΡρßŠ Zπ yγ Ï9#u ( Ÿωöθ©9 šχθ è?ù' tƒ Ο Îγ øŠn= tæ ¤≈ sÜù= Ý¡Î0 〈  15 xFB�
 

16  Iω öθs9 uρ øŒÎ) |M ù=yz yŠ y7 tF ¨Ζy_ |M ù=è% $ tΒ u !$x© ª!$# 〈  39 xFB�
 

17  (#θä9$ s%uρ Ÿω öθs9 $oΨ�Ï?ù' tƒ 7πtƒ$ t↔Î/ ÏiΒ ÿÏµ În/§‘ 4 〈  133 l¥ 

18  (#θä9$ s) s9 $ uΖ−/u‘ Iω öθs9 |M ù= y™ö‘r& $ uΖø‹ s9 Î) Zωθß™u‘ yìÎ7 ®KuΖsù y7ÏG≈ tƒ# u 〈  134 l¥ 

19  Iω öθ©9 øŒÎ) çνθãΚçF ÷è Ïÿxœ £sß tβθãΖÏΒ÷σßϑø9 $# àM≈oΨÏΒ÷σßϑø9 $# uρ öΝÍκ Å¦à�Ρr' Î/ # Z�ö�yz 〈  12 
(0�
 

20  Ÿω öθ©9 ρâ !% ỳ Ïµ ø‹n= tã Ïπ yèt/ö‘r' Î/ u !# y‰pκ à− 4 〈  13 
(0�
 

21  Iω öθs9 uρ øŒÎ) çνθßϑçG÷è Ïϑy™ Ο çF ù=è% $̈Β ãβθä3tƒ !$uΖs9 βr& zΝ‾= x6 tG‾Ρ # x‹≈ pκ Í5 〈  16 
(0�
 

22  Iω öθs9 tΑÌ“Ρé& Ïµø‹ s9 Î) Ò� n=tΒ šχθ ä3uŠ sù …çµ yètΒ # ��ƒÉ‹tΡ 〈  7 :�1�H�
 

23  Iω öθs9 tΑÌ“Ρé& $uΖøŠ n= tã èπ s3Í× ‾≈ n= yϑø9 $# ÷ρr& 3“t� tΡ $ oΨ−/u‘ 3 〈  21 :�1�H�
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24  Ÿω öθs9 tΑÌh“ çΡ Ïµ ø‹ n=tã ãβ# u ö� à) ø9 $# \'s#÷Η äd Zοy‰Ïn≡uρ 4 〈  32 :�1�H�
 

25  Ÿω öθs9 šχρ ã� Ï� øótF ó¡n@ ©!$# öΝà6 ‾= yès9 šχθ ßϑym ö� è? 〈  46 2+0�
 

26  (#θä9θ à) u‹ sù $ oΨ−/u‘ Iωöθs9 |M ù=y™ö‘r& $ uΖøŠs9 Î) Zωθß™u‘ yìÎ7 ®KuΖsù y7 ÏG≈ tƒ# u 〈  47 Å�D�
 

27  (#θä9$ s% Iω öθs9 š†ÎAρé& Ÿ≅÷W ÏΒ !$ tΒ š†ÎAρé& #y›θãΒ 4 〈  48 Å�D�
 

28  (#θä9$ s%uρ Iω öθs9 š Ì̂“Ρé& Ïµø‹ n= tã ×M≈tƒ# u  ÏiΒ Ïµ În/§‘ ( 〈  50 �(3B0��
 

29  ôM n=Å_Áèù ÿ… çµçG≈ tƒ# u ( @‘Ïϑyg õƒ−# u @’ Î1 t� tãuρ 3 〈  44 g��b 

30  (#θä9$ s%uρ Ÿω öθs9 tΑ Ìh“ çΡ # x‹≈ yδ ãβ# u ö� à) ø9 $# 4’ n?tã 9≅ã_ u‘ zÏiΒ È÷tGtƒö� s) ø9 $# 〈  31 u�fM�
 

31  Iω öθn= sù u’ Å+ø9 é& Ïµ ø‹ n= tã ×οu‘Èθó™r& ÏiΒ A=yδ sŒ 〈  53 u�fM�
 

32  Ÿω öθn= sù ãΜ èδ u�|ÇnΣ tÏ%©!$# (#ρä‹sƒªB $#  ÏΒ ÈβρßŠ «!$# $ºΡ$ t/ö� è% Oπoλ Î;# u ( 〈  28 u�DJK
 

33  ãΑθà) tƒuρ š Ï%©! $# (#θãΖtΒ# u Ÿωöθs9 ôM s9Ìh“ çΡ ×οu‘θß™ ( 〈  20 �+, 

34  ß øtwΥ öΝä3≈oΨø) n= yz Ÿωöθn= sù tβθè% Ïd‰|Áè? 〈  57 ��1
(�
 

35  ô‰s) s9 uρ ÞΟ çG÷Η Í> tã nοr' ô± ¨Ψ9$# 4’ n<ρW{$# Ÿωöθn= sù tβρã� ©.x‹s? 〈  62 ��1
(�
 

36  öθs9 â !$t± nΣ çµ≈uΖù= yèy_ % [`% ỳ é& Ÿωöθn= sù šχρ ã� ä3ô± n@ 〈  70 ��1
(�
 

37  Iω öθn= sù # sŒÎ) ÏM tón= t/ tΠθà) ù= çtø:$# 〈  83 ��1
(�
 

38  Iω öθn= sù βÎ) ÷Λ äΨ ä. u�ö�xî tÏΖƒÏ‰tΒ 〈  86 ��1
(�
 

39  tβθä9θ à) tƒuρ þ’ Îû öΝÍκ Å¦à�Ρr& Ÿωöθs9 $ uΖç/Éj‹yè ãƒ ª!$# $ yϑÎ/ ãΑθà) tΡ 4 〈  8 ������
 

40  tΑθà) u‹ sù Éb>u‘ Iω öθs9 ûÍ_s?ö� ¨z r& #’ n<Î) 9≅y_ r& 5=ƒÌ� s% šX£‰¢¹r' sù 〈  10 :(Db�0�
 

41  tΑ$ s% öΝßγ äÜy™÷ρr& óΟs9 r& ≅è% r& ö/ä3©9 Ÿω öθs9 tβθßs Îm7 |¡è@ 〈  28 6�D�
 

� 2�	k� �4"� :41 ��	�W 

* * * 
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